CHI? DIFFERENCE TEST




More Tests for Construct Validity

- Chi? difference test for pairs of constructs.
- Estimate model with correlation between latent constructs free to estimate.

- Estimate model with correlation between latent constructs fixed to 1.
- Perform a chi? difference test.

- If the free model has a significantly lower chi? you have discriminant validity.

Bagozzi, Richard P., and Lynn W. Phillips (1982). “Representing and Testing Organizational
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Df: 9 - 8 = 1, critical value: 3.84 at 5%

Chi?: 60.66 — 14.00 = 46.66

46.66 > 3.84 so the unconstrained model has a significantly lower chi?,
and we have discriminant validity.



